Ergénze die fehlenden Steigerungsformen dieser Adjektive:

Deutsch / Grammatik
Steigerung der Adjektive (Wieworter)
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Deutsch / Grammatik
Steigerung der Adjektive (Wieworter)

> => < am schlechtesten >

> => < am nachsten >

> => < am dinnsten >

> => < am weichsten >

>=>< am flachsten >

> => < am dimmsten >

> => < am schlausten >

-t

am besten >

> => < am grofiten >

> => < am kltgsten >

>=>< am feinsten >

> => < am hiubschesten >

> => < am steilsten >

> => < am breitesten >
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Losungen
schlecht > => < schlechter
nahe > => < naher
dinn > => < dinner
weich > => < weicher
flach > => < flacher
dumm > => < dimmer
schlau > => < schlauer
gut > => < besser
grof3 > => < grol3er
klug > => < Kliger
fein > => < feiner
hiibsch > => < hibscher
steil > => < steiler
breit > => < breiter
dunkel > => < dunkler

> => < am dunkelsten >
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